

**On Ishikawa Iteration with Different Control Conditions for  
Asymptotically Non-expansive Non-self Mappings**

P. Julia Mary<sup>1</sup> and A. Anthony Eldred<sup>2</sup>

<sup>1</sup>M.Sc. Mathematics, St. Joseph's College (Autonomous), Tiruchirappalli

<sup>2</sup>Asst Prof of Mathematics, St. Joseph's College (Autonomous), Tiruchirappalli

**Introduction**

**Definition 1.1**

Let  $E$  be a real Banach space and let  $C$  be a nonempty closed convex subset of  $E$ . A map  $T : C \rightarrow C$  is said to be asymptotically nonexpansive ([2]) if there exists a sequence  $\{k_n\} \subset [1, \infty)$  with  $\lim_{n \rightarrow \infty} k_n = 1$  such that

$$(1.1) \quad \|T^n x - T^n y\| \leq k_n \|x - y\|$$

for all  $x, y \in C$  and  $n \geq 1$ .

$T$  is said to be uniformly  $L$ -Lipschitzian ([2]) if

$$\|T^n x - T^n y\| \leq L \|x - y\|$$

for all  $x, y \in C$  and  $n \geq 1$ , where  $L$  is a positive constant.

For a map of  $T$  of  $C$  into itself, the Ishikawa iteration scheme is studied ([1]):  $x_1 \in C$ , and

$$(1.2) \quad \begin{cases} x_{n+1} = \alpha_n T^n(y_n) + (1 - \alpha_n)x_n \\ y_n = \beta_n T^n(x_n) + (1 - \beta_n)x_n \end{cases}$$

**Definition 1.2**

Let  $C$  be a nonempty closed convex subset of a Banach space  $X$  and let  $D$  be a nonempty subset of  $C$ . A retraction from  $C$  to  $D$  is a mapping  $P : C \rightarrow D$  such that  $Px = x$  for  $x \in D$ . A retraction  $P$  from  $C$  to  $D$  is nonexpansive if  $P$  is nonexpansive (i.e.,  $\|Px - Py\| \leq \|x - y\|$  for  $x, y \in C$ ).

Let  $E$  be a real normed linear space,  $K$  a nonempty subset of  $E$ . Let  $P : E \rightarrow K$  be the nonexpansive retraction of  $E$  onto  $K$ . A map  $T : K \rightarrow E$  is said to be asymptotically nonexpansive([2]) if there exists a sequence  $(k_n) \subset [1, \infty)$ ,  $k_n \rightarrow 1$  as  $n \rightarrow \infty$  such that the following inequality holds.

$$(1.3) \quad \|T(PT)^{n-1}x - T(PT)^{n-1}y\| \leq k_n \|x - y\|, \forall x, y \in K, n \geq 1.$$

$T$  is called uniformly  $L$ -Lipschitzian if there exists  $L > 0$  such that

$$(1.4) \quad \|T(PT)^{n-1}x - T(PT)^{n-1}y\| \leq L \|x - y\|, \forall x, y \in K, n \geq 1.$$

Let  $K$  be a nonempty closed convex subset of a real uniformly convex Banach space  $E$ . The following iteration scheme is studied:

$$(1.5) \quad x_1 \in K, \begin{cases} x_{n+1} = P(\alpha_n T(PT)^{n-1}(y_n) + (1-\alpha_n)x_n) \\ y_n = P(\beta_n T(PT)^{n-1}(x_n) + (1-\beta_n)x_n) \end{cases}$$

**Lemma 1.1 ([6])** Let  $r > 0$  be a fixed real number then a Banach space  $E$  is uniformly convex if and only if there is a continuous strictly increasing convex map  $g : [0, \infty) \rightarrow [0, \infty)$  with

$$g(0) = 0 \text{ such that for all } x, y \in Br[0] = \{x \in E : \|x\| \leq r\}, \\ \|\lambda x + (1-\lambda)y\|^2 \leq \lambda \|x\|^2 + (1-\lambda) \|y\|^2 - \lambda(1-\lambda)g(\|x-y\|) \text{ for all } \lambda \in [0, 1]$$

**Lemma 1.2 ([7])** Let  $g: [0, \infty) \rightarrow [0, \infty)$  with  $g(0) = 0$  be a strictly increasing map. If a sequence  $\{x_n\}$  in  $[0, \infty)$  satisfies  $\lim_{n \rightarrow \infty} g(x_n) = 0$ , then  $\lim_{n \rightarrow \infty} x_n = 0$ .

**2. Main Results**

**Lemma 2.1**

Let  $E$  be a real uniformly convex Banach space,  $K$  closed convex nonempty subset of  $E$ . Let  $T : K \rightarrow E$  be asymptotically nonexpansive with sequence  $\{k_n\} \subset [1, \infty)$  such that

$$\sum_{n \geq 1} k_n - 1 < \infty \text{ and } F(T) \neq \emptyset. \text{ Let } \{\alpha_n\} \subset (0, 1) \text{ be such that } \varepsilon \leq 1 - \alpha_n \leq 1 - \varepsilon \forall n \\ \geq 1 \text{ and some } \varepsilon > 0. \text{ From arbitrary } x_1 \in K \text{ define a sequence } \{x_n\} \text{ by equation} \\ (1.5). \text{ Then } \lim_{n \rightarrow \infty} \|x_n - x^*\| \text{ exists for each } x^* \in F(T).$$

**Proof**

For any  $x^* \in F(T)$ , utilizing (1.5), we have

$$\begin{aligned} \|x_{n+1} - x^*\| &= \|P(\alpha_n T(PT)^{n-1}(y_n) + (1-\alpha_n)x_n) - Px^*\| \\ &= \|\alpha_n(T(PT)^{n-1}(y_n) - T(PT)^{n-1}x^*) + (1-\alpha_n)(x_n - x^*)\| \\ &\leq \alpha_n k_n \|y_n - x^*\| + (1-\alpha_n) \|x_n - x^*\| \\ &\leq \alpha_n k_n \|\beta_n(T(PT)^{n-1}(x_n) - x^*) + (1-\beta_n)(x_n - x^*)\| + (1-\alpha_n) \|x_n - x^*\| \\ &\leq \alpha_n \beta_n k_n \|T(PT)^{n-1}(x_n) - x^*\| + \alpha_n k_n (1-\beta_n) \|x_n - x^*\| + (1-\alpha_n) \|x_n - x^*\| \\ &\leq \alpha_n \beta_n k_n^2 \|x_n - x^*\| + \alpha_n k_n (1-\beta_n) \|x_n - x^*\| + (1-\alpha_n) \|x_n - x^*\| \\ &\leq \|x_n - x^*\| [\alpha_n \beta_n k_n^2 + \alpha_n k_n (1-\beta_n) + 1 - \alpha_n] \end{aligned}$$

$$\begin{aligned} &\leq \|x_n - x^*\| [\alpha_n \beta_n k_n (x_n - I) + \alpha_n (k_n - I) + 1] \\ &\leq \|x_n - x^*\| [1 + \mu_n], \text{ where } \mu_n = \alpha_n \beta_n k_n (k_n - I) + \alpha_n (k_n - I) \\ \|x_{n+1} - x^*\| &\leq \|x_n - x^*\| (I + \mu_1) (I + \mu_2) \dots (I + \mu_n) \\ &\leq \|x_n - x^*\| e^{\sum_{i=1}^n \mu_i} \end{aligned}$$

since,  $e^{\sum_{i=1}^n \mu_i}$ ,  $\|x_n - x^*\|$  is bounded.

This proves that  $\|x_n - x^*\|$  is a bounded sequence and hence  $\lim_{n \rightarrow \infty} \|x_n - x^*\|$  exists.

**Theorem 2.2**

Let E be a real uniformly convex Banach space, K closed convex nonempty subset of E. Let T : K → E be asymptotically nonexpansive with sequence

$$\{k_n\} \subset [1, \infty) \text{ such that } \sum_{n \geq 1} k_n - 1 < \infty \text{ and } F(T) \neq \emptyset. \text{ Let } \{\alpha_n\} \subset (0, 1)$$

be such that

$\varepsilon \leq 1 - \alpha_n \leq 1 - \varepsilon \forall n \geq 1$  and some  $\varepsilon > 0$ . From arbitrary  $x_1 \in k$  define a sequence  $\{x_n\}$  by equation(1.5). Let  $\{\alpha_n\}$  and  $\{\beta_n\}$  be sequences in  $[0, 1]$  and satisfy the following condition :

$$\sum_{n=1}^{\infty} \alpha_n (1 - \alpha_n) = \infty, \limsup_{n \rightarrow \infty} \beta_n < 1 \tag{2.1}$$

Then  $\liminf_{n \rightarrow \infty} \|x_n - T(PT)^{n-1} x_n\| = 0$ .

**Proof**

For any  $x^* \in F(T)$ , utilizing (1.5), we have

$$\begin{aligned} \|x_{n+1} - x^*\|^2 &= \|\alpha_n (T(PT)^{n-1}(y_n) - x^*) + (I - \alpha_n)(x_n - x^*)\|^2 \\ &\leq \alpha_n \|T(PT)^{n-1}(y_n) - x^*\|^2 + (I - \alpha_n) \|x_n - x^*\|^2 - \alpha_n (I - \alpha_n) g(\|x_n - T(PT)^{n-1}(y_n)\|) \\ &\leq \alpha_n k_n \|y_n - x^*\| + (I - \alpha_n) \|x_n - x^*\|^2 - \alpha_n (I - \alpha_n) g(\|x_n - T(PT)^{n-1}(y_n)\|) \\ &\leq \alpha_n k_n \|\beta_n (T(PT)^{n-1}(x_n) - x^*) + (I - \beta_n)(x_n - x^*)\|^2 + (I - \alpha_n) \|(x_n - x^*)\|^2 \\ &\quad - \alpha_n (I - \alpha_n) g(\|x_n - T(PT)^{n-1}(y_n)\|) \\ &\leq \alpha_n k_n^2 \beta_n \|x_n - x^*\|^2 + \alpha_n k_n (I - \beta_n) \|x_n - x^*\|^2 - \alpha_n k_n \beta_n (I - \beta_n) g(\|x_n - T(PT)^{n-1}(x_n)\|) \\ &\quad + (I - \alpha_n) \|x_n - x^*\|^2 - \alpha_n (I - \alpha_n) g(\|x_n - T(PT)^{n-1}(y_n)\|) \end{aligned}$$

$$\begin{aligned} & \|x_{n+1}-x^*\|^2 \leq \|x_n-x^*\|^2 + \{ \alpha_n \beta_n k_n^2 + \alpha_n k_n - \alpha_n \beta_n k_n - \alpha_n \} \|x_n-x^*\|^2 \\ & - \alpha_n \beta_n k_n (1-\beta_n) g (\|x_n-T(\text{PT})^{n-1}(x_n)\|) - \alpha_n (1-\alpha_n) g (\|x_n-T^n(\text{PT})^{n-1}(y_n)\|) \\ & \alpha_n (1-\alpha_n) g (\|x_n-T(\text{PT})^{n-1}(y_n)\|) \leq \|x_n-x^*\|^2 - \|x_{n+1}-x^*\|^2 + \\ & \qquad \qquad \qquad \{ \alpha_n \beta_n k_n (k_n-1) + \alpha_n (k_n-1) \} \|x_n-x^*\|^2 \end{aligned} \tag{2.2}$$

$$\begin{aligned} & \alpha_n \beta_n k_n (1-\beta_n) g \|x_n-T(\text{PT})^{n-1}(x_n)\| \leq \|x_n-x^*\|^2 - \|x_{n+1}-x^*\|^2 \\ & + \{ \alpha_n \beta_n k_n (k_n-1) + \alpha_n (k_n-1) \} \|x_n-x^*\|^2 \end{aligned} \tag{2.3}$$

{ $\alpha_n$ } and { $\beta_n$ } satisfy (2.1)

Let  $m \geq 1$ . Then from the inequality (2.2), we have

$$\begin{aligned} & \sum_{n=1}^m \alpha_n (1-\alpha_n) g (\|x_n-T(\text{PT})^{n-1}(y_n)\|) \leq \|x_1-x^*\|^2 - \|x_{m+1}-x^*\|^2 \\ & + \sum_{n=1}^m \{ \alpha_n \beta_n k_n (k_n-1) + \alpha_n (k_n-1) \} \|x_n-x^*\|^2 \end{aligned}$$

when  $m \rightarrow \infty$ , we have

$$\sum_{n=1}^m \alpha_n (1-\alpha_n) g (\|x_n-T(\text{PT})^{n-1}(y_n)\|) < \infty$$

since  $\sum_{n=1}^{\infty} (k_n-1) < \infty$ ,  $\|x_n-x^*\|$  is bounded and  $\sum_{n=1}^{\infty} \alpha_n (1-\alpha_n) = \infty$

$$\therefore \liminf_{n \rightarrow \infty} g \|x_n-T(\text{PT})^{n-1}(y_n)\| = 0$$

From lemma 1.3 we get

$$\liminf_{n \rightarrow \infty} \|x_n-T(\text{PT})^{n-1}(y_n)\| = 0$$

$$\begin{aligned} & \text{since } \|x_n-T(\text{PT})^{n-1}(x_n)\| = \|x_n-T(\text{PT})^{n-1}(y_n) + T(\text{PT})^{n-1}(y_n)-T(\text{PT})^{n-1}(x_n)\| \\ & \leq \|x_n-T(\text{PT})^{n-1}(y_n)\| + \|T(\text{PT})^{n-1}(x_n)-T(\text{PT})^{n-1}(y_n)\| \\ & \leq \|x_n-T(\text{PT})^{n-1}(y_n)\| + k_n \|x_n-y_n\| \\ & \leq \|x_n-T(\text{PT})^{n-1}(y_n)\| + k_n \|x_n-\beta_n T(\text{PT})^{n-1}x_n + \beta_n x_n\| \end{aligned}$$

$$\leq \|x_n - T(\text{PT})^{n-1}(y_n)\| + k_n \beta_n \|x_n - T(\text{PT})^{n-1}(x_n)\|$$

$$(1 - k_n \beta_n) \|x_n - T(\text{PT})^{n-1}(x_n)\| \leq \|x_n - T(\text{PT})^{n-1}(y_n)\|$$

$$\liminf (1 - k_n \beta_n) > 0 \ \& \ \liminf_{n \rightarrow \infty} \|x_n - T(\text{PT})^{n-1}(y_n)\| = 0$$

$$\liminf_{n \rightarrow \infty} \|x_n - T(\text{PT})^{n-1}(x_n)\| = 0$$

## References

- 1) Abdul Rahim Khan , Hafiz Fukhar –ud-din, Weak Convergence of Ishikawa Iterates for Nonexpansive Maps, *Proceedings of the World Congress on Engineering and Computer Science 2010 Vol II WCECS 2010*, October 20-22, 2010, San Francisco, USA.
- 2) C.E. Chidume , E.U. Ofoedu and H. Zegeye, Strong and weak convergence theorems for asymptotically non-expansive mappings, *Journal of Mathematical Analysis and Applications*, 280 (2003) 364-374.
- 3) C. E. Chidume, Bashir Ali, Approximation of common fixed points for finite families of nonself asymptotically non-expansive mappings in Banach Spaces. *Journal of Mathematical Analysis and Applications*, 326 (2007) 960-973.
- 4) S. S. Chang, Y. J. Cho, H. Zhou, Demi-closed principle and weak convergence problems for asymptotically non-expansive mappings, *J. Korean Math. Soc.*, 38 (2001) 1245-1260
- 5) J. Schu, Iterative construction of fixed points of asymptotically non-expansive mappings, *Journal of Mathematical Analysis and Applications*, 158(1991), 407-413.
- 6) H. K. Xu; Inequalities in Banach spaces with applications, *Nonlinear Anal. TMA* 16(12) (1991), 1127-1138.
- 7) H. Y. Zhou, G.T. Guo, H.J. Hwang, Y.J. Cho, On the iterative methods for nonlinear operator equations in Banach spaces. *Pan Amer Math. J.*, 14(4) (2004), 61-68